b e 1 —
/’l‘lf jcﬁbi 5'1}433’(2 d)f

- Sin 33{: = 36’0523( Pl o S 3 o
. ,J 200 (2D = 1- cop?
B 2 J = leosy =ShrpeS vy o o i hae
| Eo S = &
= * — St o¢ d:( P G{L{
- ‘—'"Jﬁ'uz“u)dq

- = j(q—%da‘JJc{
- S S AR
<A

= Itheitx . T losthel ¢



_'[> Sin {'}C
3 j‘)}h“’ié}(
# uS]ﬂj 'r’fdur‘fm (wmufa o 51.1_”_:(?: -)ﬁ
Jinrcordr= L fsin Mz = "=
JS“M"JE dx = —cos €x )sinS0c) + S Jrin*Cx goe o]

» 6 6
[
‘J’GEblq:x,dzx = = oS S‘Fnsx far o .ﬁ*’ﬂ “(x -JC!I
2 =
J.s:ni[x)cbc:~ cos(>e)Sinx 4+ | J’ob(
2 =
= = tos(oc 23}!4(12_ + 1 5e
! = 3 2 2
i jﬁn*ﬁx}dnc: ces (5¢)sin 3¢ — § CoST SinxX + 3X
4 § & .}
L‘:n"’xcloc = M > 5 s X SNIX
S 6 24
— 5 tosx 8inat + 50 4+ ¢ ks

(6 o peith
_ 2) Jhs‘bc 5_1_ﬂzx.“‘b(. .
Jcos*x (sinal8




